BiZ (%)

1HH
118268
HiER

118278
RiER

FAUIS +RER

38H
117288
U=

HERE

118298
JKIEH
R+ BETH
S5HE
118308
RigH

XALARER

B#R - LEI>a>

(9=]=|
12A1H
iR

1 2017411826H (H) ~

TRi29FE RRARIAO—7vT - RikRT2LI 7 ABE (F)

BEBAK: 11212 (FE)
(T1UE> - 12 REDF4FD)

1218 (&)

B

18:00 20: 30| BHEARTIL (RE)

[J1VUE>] 5% (1> R] 6%

<X=3> 1-4% <tJ> 1-4% <FU=> 6%&
10: 05% (JL746) | 08:00% (PR434) 01:15% (NH828)

RmZeE —15 : 35pEE —13: 405 @AE —12 : 40pHEE

BEARTIL GRE) |SRETRTILA (19BEE) |SRETRTILA (1785 HABETKRTILA (1685ES)
S8 (ZB) Y8 (ZB) SR (&H)
#E $E

_.|9:30 | 10:15| WEEARFIL CRE) AUITZF—23> AUITZF—23>

w 10:1511:00| BHEAFIL GRE) BRERTIL - RE BRRTIL - $HE
11:15/17:00 A HARE (BEED) HARE (BEED)

4F1%|18:00 20:00 RIE DIIVALT A F— DIIVALT A F—

BERTIL GRE) RTIVE RTILE
#E #E

4FHi| 8:30 12:00 EBARER HBIRER
12:00|13:00 A BB BB

- 13:00 17:00 EBARER HBRRER
18:00/20:00 4 4=

e e

A1) 8:30 12:30 #BA HRER R

Fi#%(12:30 BHETEN(EER - YBEH)
10:00| 12:00|BHAFIL GRE) [#mEEEBT] 1> RO REZF—

- 9:00 9:15|  w®m | | vzEeE] AFLE | S ZEEE] AL
9:15 11:00 #HR (1BE8E] XALIRER (1REEE] XbLIRER
11:30 12:30 A (fRigE] BR (fRigE] BR

(1BEgE] 88 (1BEgE] 28

7% (14:00 18:00| BEARFIL CRE) [EEzeS

LT 3> with #INEEE

(JL745)

FAHT(8:3010:00 SYvITYVI=Z—F4>0D SYvITYVI=Z—F4>0D
10:30 SRBICTTEEAN | SHEE(CTHRAZEA BREBEICTTEEA
12:30 BE BE (REZHICT) BE&

BRE 14 : 40%
FEENRE — 18:40% FEENRE

g (PR433)

PR EiEE 2:;7::3?5? BE 17 35%

— 23:50%& (NH827)




